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TRWRNED : (1) 3, VIBODD, VTS INTFT DDFDITITYN TOCFR0. O30YT3e méééﬁ@?%Q

3§f@£e 3RTR dae%zsadﬁaﬁ &90.

(2) WITON WDTY WFRT HFONLO D VPTD TI) To&ODT, WO TN
BFENTI), TWHL T LIFRD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Qen-A/SECTION - A

BRWS : (i) DT TJAYWH, wZ0R. 30x1=30
(i) YR Boy Doy SOHNYY BETTOT WITBI, B0 I BTT SOHOD
30936 B WPYNY YITT, WBOWO.

Note : (i)  Answer all the questions.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1.  BBOZ QADNRARODT BRNYIE FZNRW AWT VRODY m@&eﬁ@ﬁmméjﬁ :
(a) RPVRFTYMROI (b) [RZRIPVIET
() MPRRIJED (d) JedBeoo
Plants having flowers with free petals are placed under :
(@) Monochlamydea (b) Monocotyledons
(c) Gamopetalae (d) polypetalae

2. [BRFII?® TREOOIRY :

(a) TRDF (b) Fed (c) =T d) ¢
Vernonia arborea is a :
(@) herb (b) shrub (c) tree (d) twiner

3. %030 BAOODTATRY QSN :

(a) =TY (b) 83res HSNY Foodpews
() AR (d) H=T0T TSNS

In Hevea brasiliensis, the leaves are :

(a) Simple (b)  Trifoliately compound
(c) Sessile (d) Palmately lobed

4. [0TTY ﬁé@@miofm :

(a) TWOSTFCH (b) T (c) QRBRT* (d) =g
o o 3]
The phyllotaxy in Musa is :
(a) Alternate (b) Opposite (c) Distichous (d) Spiral
5. BR003F FROFT 9BT QB/OOIW :
(a) 3onz T (b) FT T
(c) TooDeF =T (d) = 00 T
Borassus flabellifer is the binomial of :
(a) coconut tree (b) wine palm
(c) ‘royal palm (d) palmyra palm
6. SEFNAOTR BROLBRRO0T IBm BIRFR) :
(a) 3‘368@0 (b) AT EIRIT () @éﬁ.@ﬁe@s (d) gﬁe@s

A drug obtained from Artemesia maritima is :
(a) pyrethrum (b) santonin (c) atropine (d) quinine



10.

11.

3
DFTY FZNGY TNOTRT[OT LDV :
(a) SRATACI® (b)
(c) TOHRCIPAOIT (d)
An advanced family in Monocotyledons is :
(a) Asteraceae (b)
(c) Rubiaceae (d)
L3080%,_003F VY T :
(a) BREPVCVOCIPT ez BT (b)
() JBT'I STH% (d)
The osteosclereids are seen in :
(a) seed coat of crotalaria (b)
(c) pulp of pyrus (d)
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Malvaceae
Orchidaceae

ﬁéxw e JRT
m@ﬁsgs e&@%

seed coat of pisum
petioles of banana

TRHET FOTND 85 QOBRBWF A'IY FOBWITII

(a) Q¢ wow (b)
(c) NITY 0T (d)
Passage cells are found in endodermis of :

(a) dicot stem (b)
(c) monocot stem (d)

[P FORONO :

(a) QNFS DOAZT (b)
(c) LT Swlersvvg (d)
Vascular Cambium isa :

(a) apical meristem (b)
(c) lateral meristem (d)

DONFT emoriotﬁﬁ@;m‘;l efsé NIOE DT
560333@_08 :

Qp@ 2363
ngcseé 263

dicot root
dicot leaf

Qowd@apé daa:gw
TR
ed

intercalary meristem

promeristem

VORI, JDFONTRTI), & erfoTd

(a) TWoBRBLPRPVI (b) =IP[ewwe

(c) QOB (d) azooed

The determination of the age of a tree by counting the annual rings is called :
(@) dendrocronology (b) palynology

(c) entemology (d) ecology
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BIRIVIFNYY, TTND T ATF AT WOBND :

(a) @ede3T (b) HA

(€) 0 Ppo (d) A BRFNRW
In Gymnospermes, the chief water conducting elements are :
(a) tracheids (b)  vessels

(c) xylem fibres (d) sieve tubes

DAL B B A BRTO 200 BREIT(TOBIFS) 200 TWIZ, VBT 38 AeFBODY
POTOIRENATID :

(a) RAwJo (b) HIRBRTD

() &RRTPTD ©OTIVBEOITVTD (d) 2FT° Amex®

Hugo de Vries first used the term mutation based on his observation on :
(@) Sorghum (b) Neurospora

(c) Oenothera lamarckiana (d) Cicer gigas

SRR, bert TEARTTD :

2
(@ 2n-1 (b) 2n+1 () 2n+2 (d) 2n-2
Nullisomy is represented by :

(@ 2n-1 (b) 2n+1 () 2n+2 (d) 2n-2

RIT STV AT BRI YR, berioDd FSOHIHIT

)
(a) Ve dR[RIERTT (b) ©R0T W EpeRREReBT
(€) - BREHWPEPCTFNED (d) TS IEF
Chromosomes occur in cancer cells are called as :
(a) Polytene chromosome (b) Lamp brush chromosome
(c) B -chromosomes (d) Double minutes

BYIYTOB BHREOIT, FRLVHCEACTT RO :

(@ 30 (b) 40 (c) 10 (d) 20
Haploid set of chromosome in sugarcane is :

(@) 30 (b) 40 (c) 10 (d) 20
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zmé@#?bocs 238030 aﬂedm& &enowd %80333@36 :

(a) &opReedRET (b) I%&%JNZ%E’D%N*“
(c) LT (d) PoW3REINF®
The development of root from the callus is called :

(a) organogenesis (b) rhizogenesis
(c) caulogenesis (d) embryogenesis

BRIDT W BINT Bt BeOB(LIARAT) THABTOIT DUNT SRR,
304PORRHIT :

(a) SBRRRF (b) e’
(€) DRRIF (d) 2T

Enriched vitamin tablets are produced from the following organism for human
consumption.

(a) Nostoc (b) Yeast
(¢) Mushroom (d) Spirulina

39NT O3 HALBO QOBRAONT T TAEY AR BT, DTREHILO ITVOH
BRI 9

(a) QOWT BT (b) BoWT P
(© NI (d) 3T AT LRT,

Which one of the following genetically engineered products helps the cells to resist
viruses ?

(@) Interleukin (b) Interferon

(c) Insulin (d) Renin inhibitors

ERTHTAT YOTOHTFOIN

(a) ERTOZeRT (b) HooRT soederyd Ser
(€) 2RAFT Qovederd den (d) ozBeRses”

An example for transferase :

(a) transaminase (b) pyruvic carboxylase
(c) histidine decarboxylase (d) dehydrogenase
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Z - BReRS AT, BRWRIT :
(@) AT @62@? 0nR (b) Q03 HeeLipeS T
() T -AET @@%&s plelat (d) CO, T 3&S
Z - scheme refers to :
(@) Cyclic electron transport (b)  photolysis of water
(c) Non-cyclic electron transport (d) reduction of CO,

FINTRNTY SR AOBIT; YOATOLT R E3eET (BRpe0) ¢

(a) BReLEINH (b) oem

(c) woBdereTTeeT (d) e3P NED
Which of the following is the common respiratory substrate :
(a) proteins (b) lipids

(c) carbohydrates (d) vitamins

asa%ﬁ@ DIRMIRER WPNRPOBIT TOBLFE :

(a) ©F (b) NWBOTF

() s3I (d) 3T S
The hormone that involves in ripening of fruits is :

(@) auxin (b)  gibberellin

(c) ethylene (d) abscisic acid

$INSHNIY oImYH OF 3uF, 3 9

(@) BOWOB (b) RP0DFF0S
© 7 @) 7R
Which of the following is a day neutral plant ?

(a) Tobacco (b) Sunflower
(c) Oats (d) Wheat

SHRIROBOINTY, ST TON PRINW el FHBAINRORE :
(a) B[R (b) TRTNT Hodes®

© 33 (d) w¥NT Wodes®

In mitochondria, the electron transport components are arranged in :
(a) matrix (b) outer membrane

(c) cristae (d) inner membrane
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VTR, VWeBERETT IJRE FTY DO DTORSONT
(a) ATP (b) NADP () FAD (d) NADH,
It is described as energy currency of the cell :

(a) ATP (b) NADP (c) FAD (d) NADH,

ONTS BVTOBVOWNR YVTOTBTHBOIN :
(a) PO (b) TR () BeRoe (d) Q™o
An example for partial parasite is :

(@) Vanda (b) Cuscuta () Drosera (d) Viscum

déaﬁoeﬁeaom 8,028¢0 AZTO @WITEOD RAFY 0IPRYTD 2

(a) 2.0 AL (b) C323E30003TD IVWE T
() oK HFRWOI® (d) A8E E

What is the collateral host plant of pyricularia oryzae ?

(@) Oryza sativa (b) . Digitaria marginata

(c)  Arachis hypogea (d) . Citrus plant

BrITRW YBOOT BeOINRNIT

(a) Jndsszz e’ 3 5o (b) SB3Bex
() RAndex (d) BRIAT
Polyploidy can be induced by :

(@) polyethylene glycol (b) pectinase
(c) cellulase (d) colchicine

ZHO0BTRY WeLI0LF FoUOWHOI :
(a) 3 JJENH (b) 4 JTENH (c) 5 IJTENDH (d) 6 JTENRD
Duration of patent in India is :

(@) 3 years (b) 4 years (c) 5 years (d) 6 years
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Qen — B/ SECTION - B

AeUS 1 CImPTHEAS AT BIRIR, WWIOR.

Note : Answer any fifteen questions.

31. TOOODOIRCTVIONT FRTRGD NOTTCI) ?

What is papilionaceous corolla ?

32. mmd%omw w@s&s m@ﬁﬁ?nq 2)30WD.

Write the systematic position of malvaceae.

33. ﬂémsmﬁqoja?s@ %ﬁaa@ DOTIEI 9

What is syngenesious stamen ?

34. @&3@%&6 QROTTEZ 9
What is Atropine ?

35. ofmé@ DOTTE ?
What is an Eustele ?

36. ©@DT0YT TF HOTIE ?
What is a genetic map ?

37. RIITD" DOTWIER ?
What is Transcription ?

38. TBReoROD OIWITIOTTR R WTINRYIY, LTOW0.
Write any three significances of ploidy.

39. R, LOMPOT FAOD TR BRFPINTI, STRDA.

Mention three media of plant tissue culture.

40. ¥DT - TOTOT DOWT IIFE ?

What is meant by Bio-remediation ?

IV' CAREERINDIA
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B9 BE30HODI), WTVIR.

Define light reaction.

THPRRHOOIT DO 3R, FTOWTVT ?

What are called haustoria ?

B30T ROTTERY 9
What is Zeatin ?

ﬂéﬁﬁe BPRLERFRCALIOBETT SBOINT 3N, IPA.
o ) B

State the conditions underwhich cyclic photophosphorylation occurs.

VHRDTEIF 0TI ?
What is Apoenzyme ?

SNWIETLE VAT ROTTER 2

What is anaerobic respiration ?

Sotdoex® maeés@ GIRIAHNILOWEANDION DTINGT), STROA.

Mention three significances of pentose phosphate pathway.

C; B C; TPBEOD JWIT CINR)TOTTL RTD FIANTTY, T0WO.

Write any three differences between C;and C, pathway.

BROIFO FROT BIWPYTTTR RTY BREEOD SOTOIRENANTR, ToWD.

Write any three medicinal uses of Solanum nigrum.

%

What is Biofertilizer and give an example.

éb%rirazg)d Q0TI msg 20T PVTOBTTH BRR.
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Qen — C / SECTION - C
(i) W3, 0. 56 CIPT FEYCLTNTWOIRE VT, OV BRPWTTIR® D&
TN, YOZOR. 7x5=35
(i) ©NSITY WIRIW, WRR.

(i) Answer any seven questions including question no. 56 which is compulsory.

(i) Draw diagrams wherever necessary.

51.  BE3FCO0HOT MTIFT, BRTIN,

Bring out the significance of Herbarium.

52. =& m-@g TORIONT IO wsa%mm 203000.

Write the differences between Musa and Ravenala.

53. HTOZ[PT DNT FNTI), DJOR.
Explain different types of parenchyma.

54. 60@3%@3 urj\ xog@g @Sa’dsé 20B0N0.

Write short notes on lenticels.

55. 9339 B08 RFF LeRnsad, VRV DL, CYNY FORRES, R, (20T FORTI),
BRBONY BT IO 3RCL)

Draw and label the parts of transverse section of a monocot root (a sector enlarged or
Ground plan)

56. tRNA 3330 wﬁ\ xogg @Sagsé 203000.
Worite short notes on the structure of tRNA.

57. DNA mzz RNA 3®0NS 5233%#71%353& 203000.
Write the differences between DNA and RNA.

58. ©BOST CRITWOBTT TO3RENT WQBFCTI NG wr§ BOZT €3TE8 2TWO.

Write short notes on the practical application of genetic transformation.
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59. @DWBoodeemy DNA 082930 0w 98 Snmon Fednedd, 23e0.
Write the five most important events of recombinant DNA technology.
60. DTZ PIFOLETT WRLT TOIRENTIZY, NJOX.
Explain Kuhne’s fermentation tube experiment.
61. ST OIWRWOTTR WX FPIF TOTOTONYTY, 2WTWD.
Write any five physiological effects of Auxin.
62. R TOWONT if FOFT LTS 22TOW0.
Write short notes on plant introduction.
Qyen — D / SECTION - D
W (i) oc3eRTemTe Tews, JINYIY, YOIOR.
(i) ©NZNTY W¥INT, WRA.
Note : (i) Answer any four questions.
(i) Draw diagrams wherever necessary.
63. (a) 20FO W) TRIT'T BANY LONTION VITROINTI), BRTIA,.
(b) TOROCIPACINT SHFT TYINDINT, 2TOWO.
(a) Bring out the merits of Bentham and Hooker’s classification of plants.
(b) Give an account on economic importance of Rubiaceae.
64. TV TOTITROIPTVBI), BHTOAOD TITBY DTOR.(UTT WNZIY)
Describe Musa paradisiaca in botanical terms. (Diagrams not necessary)
65. QTY TOTW I VITY TVOBS TWNT WONTBID FIBOANTTY, WBCWD.

IV' CAREERINDIA

Write anatomical differences between dicot stem and monocot stem.
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4x10=40
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67.

68.

69.

70.
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3RBRERETSTIT TWHONT, DTOR.

Explain the structure of chromosome.

Sﬁs ©WOMPOT B0 e.—»(goaaﬁmﬁ £IT003NY O3oR)R) ?

What are the outcomes of application of plant tissue culture ?

PRCEACAOTPRATT TOFTOT LETVET LOTNTR, LTAUO.

Write an account on the factors affecting photosynthesis.

C, BBOD, DBOR. (FReERCTATEIT") (PR WFF VP D[OR)

Describe C, cycle (photorespiration) (flow chart or Explanation)

B D) TBS Fo0WOD SHFT TVNDINTY, L TE.

Write the economic importance of Rice and ground nut.
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